339(88,739

FEHS511(85,834HFHDiREEE

BT (8.3%)
2818 AEFE (12.9%)

mfE (6% - e ﬁﬁl@’lﬁiﬂ
3,56315M R (17.4%)
431%6’8455H 541%'5;09073F3 59{%2’1 7058 _r'ﬁ*H
3 o HENEZE (10.7%)
e 36{84,2295 EX =Sy
15(81,516%A 54, |
' - P00 BAFEOHUPRAEEORBLEEL
DEE1.7%) i R . e AEEE LT, BIEE 8,830 5HEM
39(88,2585m | AR %8
’ E Eggu PIEEE (11.4%) \ﬁgzu 72182,7825M ,-;-EA =
n 38{89,2405m \ 3th 75 3Z {3 i
TARE(10.5%) @é%ﬁgﬂéf;ms%) + KT EE,
B HER (1% AR 1.7 " A% S0'5 15 FMEBESNTLM BN
47187,9325M EEERERE19.4%) 39/88,2585M 87187,0005M | o= 1=%. HiEEL 3 & 2,000
BIBB13.1%) 66151155 FADREE

44183,81875R - -
Mg (HoER)

EERBRBREOR (X [RHDRKR]

® FHORR % BM]) IC&Y. FIEEL 158 2,080
FHAORE
HENE = )
BEE 10 B SHBESLMERE - RED MBAREE (Tois)
EECEERE LA VR EDEE EIck - _ BIEEE LESBADRENLL B0,
DBERAEEHL. HIJEEJ:IH 923 5/ f,.f. — 21 {86,355 FAZmMYJEL
DIEg o = N . . :_. i - -L\EL- #_.I.a' D
= %mmawbwﬁmﬁmabtﬁuxnn 8o e R 3 "
NG RSt s 51, FluEf‘;l:t oy i a BEiBU':‘ﬁ'I' é’ﬂ] %E:; Ve
E —_— - 5{,“4 254 HHU)F"%E ¢ Tl A -
- %" "—"'u-. - -
pwazazs 4@3Eﬁp+&m$<m s e
BERSRE « RN - BT I 25 i _ - Y s e s
& EQBE AN RA . FERLE 2086; 444 # & hg P
!-h,g Emmﬁ@?ﬁ ﬁ 2B17HHh w381 6EHJJ‘U’C%1 IEIm'*AEﬁU’\h‘Fﬁh‘hi L/t_o - s
e SRS e 8 i Eaisamﬁfmbr_eﬁfﬁo)ﬁﬁmﬁﬁawwmu:%%a) N
AR ﬁﬁrm§ﬁ$¥wn7wﬁ¢mﬁtmx st i o —_—
o ,;.,namfglﬁffr;mmntmw; ﬁ‘ﬂagtt: gsu S A ﬁ%é‘:};%u?ﬁbia‘o _

‘ﬁ; Aﬁﬂ%HHwMﬁ;m-n*

- B
O BETEEERR
<

- BEW

- BECET

_;)l\s
SRIRIEHENSITR— O

49

o T A >
SRS oehs

BESITHERESH | S
oFHET ALY BEA

WS EENRACKE

1St ovel St
FH BB SRS W

B (v (1 Q9
ot T s S 0 o e 2 S i

HRIERCFEHRT SED

CENRrOve St A

b T A S EERNS A,
OvH A CHEREU ) BE
FUNOEOIMES Vot
FAERDBEIZTAS OB

O S S o 2db

4\5'9_“

<
B LACT IR AN

v A\ BEME S T O RS B

FE S Ite-mp)
ACESIAZHERY R/

LR b T A O B SE
> B % 2 T o e Ay P B A

==
Fopr N ) g R S T

SEHY roHw s
TS BT WEMNE

DOV & G RIS L
SeBEEIOTEERI UV

A EIOWN0TOWW
CEFERE SRR YK
NEBOESEORANEE

BERN—NASFETEFS
SEID AR T ARK

SBEIIdrwomD
SERPESITE SO
ReMedEET R D

~ SF%EA ?“'g o\g"dﬁ%
BT BESI o S REED

BACKEFNrRN
PRTRYSSIES BT - E

EOSEEHD e T A

kv e 3 ERE S O S IRE PR
FESERBIFOT AN

%
S
{5}
7 i
=10
o i
1T PR

HGECERTA

G
=

<
o

M
/|

9  R#S=2020-4-1 538522020 - 4+ 1



